TR GEEBLD M

¥168,230,570

A AL YEA S (T & B

¥147,706,440

HEERT A | H MR A

59.4422

AMLFAZE GREFMmFEFL S
1. 1%@ — ZFE,E g%%;ﬁg)ﬂﬁiﬁii(?mﬁﬁ)aﬁzﬁl$ HATE A S 2 T B VS S "
2. B EF TR EE REE RERE RE Rk 1
3. AtLBrF ER25% 8 5H 10850045
ST PR B T R T R e S
THR THER (4 A Fll (BT 1)
fili s LSO AL s | mE AL | . o AL
Ty B——— 1T Y] () PRI e =1 () L =
EE s LFIIE VO g1 it (D Eee | 3 |- G i 1 & o=
ot (R AH s L sl ﬁ’%%jﬂﬁlfu o) (A /(1) |ETEREA . ) | TR
DWT@HEFR 4 ROTRE) (A)
(BR) KAKEEE 273 30| 157.3] ¥148,700,000 | 105.7834 O &AL
(%) K =4 26.1 30 156.1] ¥149,580,000 | 104.3588 O
(%) R4 27.3 30| 157.3] ¥152,800,000 | 102.945 O
HFEBE LK (B 14.8 30]  144.8] ¥148,200,000 | 97.7058 O
- — — — i — — 4
FE SRR SR () R 4 35
MR () - ~ ~ N - - 5
— — — 4 A — — AT 75
HIAEZE ) R 4 35
— — — 4 A — — AT 75
() KEH AR i3
(B EBELAK - - - iR — — 1238
(B E2ZE4 - - - iR - - iR
(%) B8 - - - iR - - R
AEEE () - - - iR - - R
— — — 2R - - R

(B EEpt 32




BIEHICRIMERFORELIETRENFFMEE(IE)]
BB (RBHR) BriRR (T R TE

H=KX1-8

1E B AFL- B Fi
BEERESR EIARHDOEER
(20 DFER
X B =
) TE DN LAH .
MES AT = S MES

s (4085 =) (3055 ) (1005 ) (4085 =)

BEREE LT RER) 14.8 30.0 100.0 14.8

(BRRKESER 27.3 30.0 100.0 27.3
— ®maEE 19.8 T B - AfLELRE
I (€7 3): ¥ N 21.3 T B - AfLELRE
B lapxsm 223 — — — ARLED

(B EEEE 27.3 30.0 100.0 27.3

(AL =EH 26.1 30.0 100.0 26.1
—|)EEHE 18.3 T B - AfLELR
B |EREZRGR 26.8 _ o - AFLEESD

HFEEER 28.3 _ o - AFLEESD
. ®ERLE 345 T B - AfLELR
C  |1BEEERER 22.0 T B - AFLEESD
| hWEESRGR 28.0 _ o - AfLELR




THRA: FREKERR)HKE(THE HRIE

(KX I—7)

(N EEDRELSE (2)EMEDREHE (3) i FEE - B E
FELE [LERME [EANLT [BEIE [REEE I1E5K 2 T E DM TR IERME [BERM [M5KE |[hERT [EEitE [EREEE [XEHE [RRES [EERM
DEIE [(£%) BEOIFE |R¥ ~DEHE (HTE) |BERE (CPD) DRRAD [THOET |COET (OFEE |OTEE (ORAD
1% AR HE £ £ ADEE | BE
BEISE (FARESR |BRER [BEIE [1S00010|BE14E [BE155F BFEE |REISE |FMRXENR BE3E |(®CPDHE |EHEW [BXE154 [BERIGH | +HHEE RALE |BHICT
HoRE (BTod |BRGE (EMoR |RBWME (MIcHT |MoEE [PUSY | (BExE [(BTod |EROE [((AO#RE |I28112 [Mo+E |ORBR (%58 |2THELL [RET5
IBOK |E5EE |Z-EEF(RIBR KR(EN 228K (BB (AEI |(7UvY) |EZ55EF |REWE (BB |KE-XE(RAOL |RAOER |ZE-2%) [TERAT |MEXEMM
s@Eons|TEE  |[Msd (8Tl [Boks |0EEF |7 HEDNKE |5 Micsl |&xE  |[EEk |S05E (AIE0 |TEOR (cox® |z |oam | NE S| HE
DIEM |H25E |H22~H24|%-2 AT TiRER DIEM |(H22~H24|iR EHER[RER: |(BENE (ATHER
BOEZ- |HOEA [BEXX) (%) BOEL- |BLLEXR) IR (RE-RE | R #180)
EEER [{LIED EEER <) TEIFR
%) DFY | RBLEL %) DI Qi #
= T EpifE xoH2 (R [BFE SN
= iR DIBEIE
A HWHEE
TOEE
lalia 400 | 3.5 |80 M| 20R i | 0.5 A | -4 055 A | 8.0RH A 8.0 | 3.0 A | 1.0 Al | 1.5 | 1.5 | 1.6RImA | 2.0 | 405 | 1.0m R
RIS RE (B) -| 20| 00| 00| 03| 00 - x10 -| 50| 00| 10| 00| 08 - 20| 40| 00 | 151 RI&
(B) A% 20 0.5 0.0 0.0 0.3 0.0 - X10 - 3.0 0.0 1.0 00| 08 - 20 40| 1.0 14.6 R
EE=EE (B - 20 0.0 0.0 0.3 0.0 - X10 - 50 0.0 1.0 00| 00 - 20 40| 00 14.3 R
WmEREBELI KGR 20 0.0 0.0 0.0 0.0 0.0 40 X1.0 40 0.0 0.0 1.0 00| 08 - 20 40| 1.0 14.8
(8) KK 3.0 20 0.0 0.0 0.3 0.0 6.0 | X1.0 6.0 50 0.0 1.0 15[ 15 - 20 40( 1.0 273
(%) R THKIE - 0.0 0.0 0.0 0.3 0.0 - X10 - 0.0 0.0 1.0 00| 00 - 20 40| 00 1.3 R
) AEHE 40 20 0.0 0.0 0.3 0.0 40 X1.0 40 0.0 0.0 1.0 00| 15 - 20 40( 1.0 19.8




THRA: FREKERR)HKE(THE HRIE

(KX I—7)

(M EEDEENE (2) B EDRENSE (3) HhigiFEIE R - BN
FEIF [ITHAM [EALT [BRIS [REEE [IH5HK AREIEOETER IR [BREM [BERE [REAT [ERtE EERE [KEHE [RREE [FEH
DEIR [((£F) |EOIHE (RE ~OHA (HTE) |[E%% |(CPD) |OHLAD |TORKI [COET |0EE |OTHE (ORED
1& AR AR e ES RADER A%
BESE |FARER (FMEEE BE3F (1S090010 |BE1F |[BE15F [BiiTat |FEIE (FMEEH [BE3F |(&CPDE |EHEN BX 155 [BESERM|HHERE B#ti=T
MOREE (SBcof |[BRGE |EMOE (RRIUE |MISST (MoXE |ZUST | @Rxt (BTol |EMOR |Ro#E (IS5115  |Mo+HE |OHBR (E#55 (% REIS
IEOR |KR5HE |- ZEH | BIER [RKR(ER[2F%K (BB R (BRI |7)0Y) |A5E5E |BEME (B0 |XE-XE|RROL [AOLA |Z-2#%) UEL
s@Eons|TEE  |[Msd (8Tl [Boks |0EEF |7 HEDNKE |5 Moyt (RE  |GEEK |ZOHE |AIF0 |THOR |LofE o |MER| HFE
HTHER (HE2FE |(H2~H24|% -+ AT IR%R BITEM [(H22~H24|iR R (BE|EERE: |BEDH
HEBE- |MOBA [BELR)|E) BOBE. |BELAR) IHER |K-RE| &
ZHEH LIHEO ZHEN Q) IRER
) DT |HZBEL R) D Q7Es.
" T o2 (R k= 323
R RIS E DHEE
A HEAZ
TH&EF
REE 4023 | 3.5 R [-80mMA| 20 m | 0.5 R MR [-40RHA| 80RH R 70 [ 30RM A | 10RMR | 155 [ 1588m | LoRmM| 20 40858 | 10RMHM
8 (BB LIAR 20 20 0.0 0.0 0.3 0.0 40 | X1.0 40 50 0.0 1.0 00| 00 - 20 40| 1.0 213
9 |(¥F) KEH 20 20 0.0 0.0 0.3 0.0 40 | X1.0 40 50 0.0 1.0 00| 15 - 20 40| 05 22.3
10| (B%) B iR AR 20 20 0.0 0.0 0.3 0.0 40 | X1.0 40 8.0 0.0 1.0 15| 15 - 20 40| 1.0 273
1| () K& =M 40 20 0.0 0.0 0.3 0.0 80 X10 8.0 3.0 0.0 1.0 00| 08 - 20 40| 1.0 26.1
12| (#R) Bl154R 40 20 0.0 0.0 05| -20 6.0 X10 6.0 0.0 0.0 1.0 00| 08 - 20 40| 00 18.3
13 | BEREEER (#%) 30 20 0.0 1.0 0.3 0.0 6.0 X10 6.0 50 0.0 1.0 00| 1.5 - 20 40| 1.0 26.8
14| AN (¥5) 40 20 0.0 0.0 0.3 0.0 6.0 X10 6.0 50 0.0 1.0 15| 15 - 20 40| 10 28.3




THRA: FREKERR)HKE(THE HRIE

(KX I—7)

(N EEDRELSE (2)EMEDREHE (3) i FEE - B E
FEISE [IEHE [BEALTI |BRIE (REEE [IEHK 2 T E DM TR IERME [BERM [M5KE |[hERT [EEitE [EREEE [XEHE [RRES [EERM
DEIE [(£%) BEOIFE |R¥ ~DEHE (HTE) |BERE (CPD) DRRAD [THOET |COET (OFEE |OTEE (ORAD
1% AR HE £ £ ADEE | BE
BEISE (FARESR |BRER [BEIE [1S00010|BE14E [BE155F BFEE |REISE |FMRXENR BE3E |(®CPDHE |EHEW [BXE154 [BERIGH | +HHEE RALE |BHICT
HoRE (BTod |BRGE (EMoR |RBWME (MIcHT |MoEE [PUSY | (BExE [(BTod |EROE [((AO#RE |I28112 [Mo+E |ORBR (%58 |2THELL [RET5
IBOK |E5EE |Z-EEF(RIBR KR(EN 228K (BB (AEI |(7UvY) |EZ55EF |REWE (BB |KE-XE(RAOL |RAOER |ZE-2%) [TERAT |MEXEMM
mEmoEs| TRE  (Bcsl (8 Tos |[Bokk |(OREmR |1 WEOWK |B) Micse |RE AR |Z0RE |AIE0 [TBOE [toxE [2nx@|oax |NES | FE
DIEM |H25E |H22~H24|%-2 AT TiRER DIEM |(H22~H24|iR EHER[RER: |(BENE (ATHER
BOEZ- |HOEA [BEXX) (%) BOEL- |BLLEXR) IR (RE-RE | R #180)
EEER [{LIED EEER <) TEIFR
%) DFY | RBLEL %) DI Qi #
= T EpifE xoH2 (R [BFE SN
= iR DIBEIE
A HWHEE
TOEE
lalia 400 | 3.5 |80 M| 20R i | 0.5 A | -4 055 A | 8.0RH A 8.0 | 3.0 A | 1.0 Al | 1.5 | 1.5 | 1.6RImA | 2.0 | 405 | 1.0m R
15| (#%) EEB L 2 40 20 0.0 1.0 0.5 0.0 80| X1.0 8.0 8.0 0.0 1.0 15[ 15 - 20 40( 1.0 345
16 | #B B ER (¥F) 3.0 0.5 0.0 0.0 0.0 0.0 6.0 | X1.0 6.0 3.0 0.0 1.0 00| 15 - 20 40( 1.0 220
17| B () 40 20 0.0 0.0 0.5 0.0 40 X1.0 40 8.0 0.0 1.0 00| 15 - 20 40( 1.0 28.0
18| (#k) Kim#H - 0.0 0.0 0.0 0.3 0.0 - X10 - 0.0 0.0 1.0 00| 08 - 20 40| 00 8.1 R




